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Circular Motion

 CIRCULAR MOTION /o`Ùkh; xfr
(CLASSROOM SHEET)

CIRCULAR  MOTION/ o`Ùkh; xfr

What kind of questions are asked on Circular Track?

o`rh; iFk ij fdl rjg ds ç'u iwNs tkrs gSa\
• After how many seconds they will meet for the

first time?/fdrus lsdaM ds ckn os igyh ckj feysaxs\

• After how many seconds they will meet for the

first time at starting point?/'kq#vkrh fcanq ij os fdrus
lsdaM ds ckn feysaxs\

• At how many points on the track they will

meet?/os VªSd ij fdrus fcUnqvksa ij feysaxs\

• When will be their nth meeting?/os n oha ckj dc
feysaxs\

• At what distance the nth meeting will take

place?/os n oha ckj fdruh nwjh ij feysaxs\

Just imagine,

Two persons are running on circular track, when

they will meet for the first time?

nks O;fÙkQ xksykdkj VªSd ij nkSM+ jgs gSa] os igyh ckj dc feysaxs\

For the first meeting the faster one has to travel

one round more than the slower one.

igyh ckj feyus ds fy, rst xfr ls nkSM+us okys dks /hes xfr ls
nkSM+us okys ls ,d pDdj vf/d yxkuk iM+rk gSA

Slow Fast

A B

X round (x + 1) round

Example :

A  5 m/s ; B  3 m/s;  Track length  240 m If

they start simultaneously from the same point in

the same direction.

;fn os ,d gh fn'kk dh vksj ,d gh fcUnq ls ,d lkFk nkSM+uk
'kq: djrs gSaA

(i) After how many seconds they will meet for the

first time?/fdrus lsdaM ds ckn os igyh ckj feysaxs\

Track length  

240  m
 

A  5 m/s
 

B   3 m/s 

 

 

A  5 m/s: B  3 m/s ; Track length  240 m

If they start simultaneously from the same point
in the same direction-

;fn os ,d gh fn'kk dh vksj ,d gh fcUnq ls ,d lkFk nkSM+uk
'kq: djrs gSaA

(ii) After how many seconds they will meet for the

first time at starting point?/'kq:vkrh fcUnq ij os
fdrus lsdaM ds ckn feysaxs\

Track length  

240  m
 

A  5 m/s  
B   3 m/s 
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Circular Motion

A  5 m/s ; B  3 m/s;  Track length  240 m If

they start simultaneously from the same point in

the same direction.

;fn os ,d gh fn'kk dh vksj ,d gh fcUnq ls ,d lkFk nkSM+uk
'kq: djrs gSaA

(iii) At how many points on the track they will

meet?/ os VªSd ij fdrus fcUnqvksa ij feysaxs\

Track length  

240  m
 

A  5 m/s  
B   3 m/s 

 

 

EXERCISE

1. Ali and Badal start from the same position and

at the same time in a 1200 m circular race,

with speeds of 27 km/h and 45 km/h,

respectively. Find after how much time they

will meet again on the track for the first time

when they are both running in the same

direction.

vyh vkSj ckny ,d gh LFkku ls vkSj ,d gh le; esa 1200

m o`Ùkkdkj nkSM+ eas Øe'k% 27 km/h vkSj 45 km/h dh

pky ls nkSM+uk vkjEHk djrs gSaA Kkr dhft, fd os fdrus

le; ckn iqu% VSªd ij igyh ckj feysaxs tc os nksuksa ,d gh

fn'kk eas nkSM+ jgs gksA

SSC CHSL 01/06/2022 (Shift- 2)

(a) 280 seconds (b) 240 seconds

(c) 250 seconds (d) 220 seconds

2. In a circular race of 1600 m, A and B start
from the same point and at the same time
with speeds of 27 km/h and 45 km/h,
respectively. After how long will they meet
again for the first time on the track when they
are running in the same direction?

1600 m dh o`Ùkkdkj nkSM+ esa A vkSj B leku fcanq ls
vkSj leku le; ij Øe'k% 27 km/h vkSj 45 km/h

dh pky ls 'kq: djrs gSaA tc os leku fn'kk esa nkSM+ jgs
gSa] rks fdrus le; ckn os VªSd ij igyh ckj fiQj feysaxs\

SSC CGL TIER I 21/07/2023 (Shift-03)

(a) 90 sec (b) 320 sec

(c) 240 sec (d) 180 sec

3. Sohan and Amit started a car race from the
same point in the same direction and at the
same time on a circular track of length 1125
m with speeds of 36km/h and 54 km/h,
respectively. After how much time (in seconds)
will they meet for the first time since the start
of the race?

lksgu vkSj vfer us ,d gh foanq ls ,d gh fn'kk esa vkSj
,d gh le; ij 1125 m yckbZ ds ,d òÙkkdkj VªSd ij
Øe'k% 36 km/h vkSj 54 km/h dh pky ls ,d dkj
jsl dh 'kq#vkr dhA jsl 'kq: gksus ds ckn ls fdrus le;
ckn (lsadM esa) os igyh okj feysaxs\

 SSC CGL (PRE) 27/07/2023 (Shift-1)

(a) 220 (b) 215

(c) 210 (d) 225

4. Three persons P, Q, R run along a circular

track at speeds of 3 km/h, 4 km/h, 6 km/h,

respectively. If the length of the track is 36

km, then after how much time will they meet

again at the starting point?

rhu O;fÙkQ P, Q, R ,d o`Ùkkdkj VªSd ij Øe'k% 3

fdeh@?kaVk] 4 fdeh@?kaVk 6 fdeh@?kaVk dh pky ls nkSM+rs

gS aA ;fn VªSd dh yackbZ 36 fdeh gS] rks os fiQj ls

'kq#vkrh fcanq ij fdrus le; ckn feysaxs\
SSC CPO 10/11/2022 (Shift-02)

(a) 38 hours (b) 36 hours

(c) 24 hours (d) 28 hours

4. In a circular race along a track 3600 m long, X

and Y run at the speed of 27 km/h and 45 km/

h respectively. Suppose they start walking at

the same time and in the same direction, then

when will they meet again at the starting point?

3600 ehVj yacs VªSd ds vuqfn'k ,d òÙkkdkj nkSM+ esa] x vkSj
y Øe'k% 27 fdeh@?kaVk vkSj 45 fdeh@?kaVk dh xfr ls nkSM+rs
gSaA eku yhft, fd os ,d gh le; vkSj ,d gh fn'kk esa pyuk
'kq: djrs gSa] rks os fiQj ls 'kq#vkrh fcanq ij dc feysaxs\

SSC PHASE XI 27/06/2023 (Shift-01)

(a) 720 sec (b) 1440 sec

(c) 2200 sec (d) 1200 sec
6. Two runners, Sony and Mony, start running on

a circular track of length 200 m at speeds of
18 and 24 km/h, respectively, in the same
direction. After how much time from the start
will they meet again at the starting point?

nks /kfodk,a] lksuh vkSj eksuh] ,d gh fn'kk esa Øe'k% 18
vkSj 24 km/h, dh pky ls 200 m yackbZ ds ,d o`Ùkkdkj
VªSd ij nkSM+uk 'kq: djrh gSaA vkjaHk ls fdrus le; ckn os
fiQj ls 'kq#vkrh fcanq ij feysaxh\

CGL PRE, 14/07/2023 (Shift-1)
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Circular Motion

(a) 120 sec (b) 110 sec

(c) 100 sec (d) 90 sec

7. In a race around a circular cycling track of 75
km, two cyclists are riding at a speed of 30
km/h and 25 km/h. After what time (in hours)
will they meet at the point from where they
started their journey?

75 km ds ,d o`Ùkkdkj lkbfdy VªSd ds ifjr% ,d nkSM+ esa
nks lkbfdy lokj 30 km/h vkSj 25 km/h dh pky ls
lkbfdy pyk jgs gSaA fdrus le; (?kaVksa esa) ds ckn os ml
fcanq ij feysaxs] tgk¡ ls mUgksaus viuh ;k=kk 'kq: dh Fkh\

CGL PRE, 14/07/2023 (Shift-2)
(a) 16 (b) 7
(c) 14 (d) 15

8. Anjali and Babita are running on a circular track

in opposite directions from same time at same

point with speeds of 8 m/sec and 6 m/sec,

respectively. If the length of the circular track

is 960 m, how many times distinct points they

will meet?

vatfy vkSj cchrk ,d o`Ùkkdkj VªSd ij ,d gh le; vkSj

,d gh fcUnq ls foijhr fn'kkvksa esa Øe'k% 8 m/sec vkSj 6

m/sec dh pky ls nkSM+ jgh gSaA ;fn o`Ùkkdkj VªSd dh

yECkkbZ 960 m gS] rks os vyx&vyx feyu fcUnqvksa ij

fdruh ckj feysaxh\
SSC CHSL 09/06/2022 (Shift- 3)

(a) 7 times (b) 6 times

(c) 12 times (d) 14 times

9. Two persons started running on a circular
track at a speed of 20 m/s and 30 m/s in
opposite directions. If the circumference of
the circular track is 100 m, find at how many
distinct points they will cross each other?

nks O;fDr ,d o`Ùkkdkj VªSd ij foijhr fn'kkvksa esa 20

m/s vkSj 30 m/s dh pky ls nkSM+uk 'kq: djrs gSaA
;fn o`Ùkkdkj iFk dh ifjf/ 100 m gS] rks Kkr dhft,
fd os ,d&nwljs dks fdrus vyx&vyx fcanqvksa ij ikj
djsaxs\

SSC CGL TIER I 19/07/2023 (Shift-03)

(a) 2 (b) 3

(c) 5 (d) 10

10. Two friends P and Q simultaneously start
running from same point around a circular
track. They run in the same direction. P runs
at 6 m/sec and Q runs at b m/sec. If they cross
each other at exactly two points on the circular
track and b is a natural number less than 6,
then how many values can b take?

nks fe=k P vkSj Q ,d lkFk ,d o`Ùkkdkj VªSd ij ,d gh fcanq
ls nkSM+uk 'kq: djrsgSaA os ,d gh fn'kk esa nkSM+rs gSaA P, 6 m/

sec dh pky ls nkSM+rk gS vkSj Q, b m/sec dh pky ls
nkSM+rk gSA ;fn os o`Ùkkdkj iFk ij Bhd nks fcanqvksa ij ,d
nwljs dks ikj djrs gSa vkSj b ,d çkÑr la[;k gS] tks 6 ls
de gS] rks b ds fdrus eku gks ldrs gSa\

CGL PRE, 14/07/2023 (Shift-3)

(a) 2 (b) 1

(c) 4 (d) 3

11. A, B and C run simultaneously, starting from
a point, around a circular track of length
1200m, at respective speeds of 2m/s, 4m/s
and 6m/s. A and B run in the same direction,
while C runs in the opposite direction to the
other two. After how much time will they meet
for the first time?

A, B vkSj C ,d lkFk] ,d leku fcanq ls nkSM+uk 'kq: djrs
gSaA os 1200 m yackbZ ds ,d o`Ùkkdkj VªSd ds ifjr% Øe'k%
2m/s, 4 m/s vkSj 6 m/s dh pky ls nkSM+rs gSaA A vkSj
B ,d gh fn'kk esa nkSM+rs gSa] tcfd C vU; nks ds foijhr
fn'kk esa nkSM+rk gSA os igyh ckj fdrus le; ds ckn feysaxs\

SSC CGL TIER I 17/07/2023 (Shift-02)

(a) 10 minutes (b) 9 minutes

(c) 12 minutes (d) 11 minutes

12. A, B and C start running simultaneously on a

circular track of length 120 meters from the

same point with the speeds 2m/s, 3m/s and

6m/s respectively. A and C are running in anti-

clockwise direction and B is running in a

clockwise direction. Answer the following

questions:

A, B vkSj C ,d gh fcanq ls 120 ehVj yacs o`Ùkkdkj VªSd ij
Øe'k% 2m/s, 3m/s vkSj 6m/s dh xfr ls nkSM+uk 'kq:
djrs gSaA A vkSj C okekorZ fn'kk esa nkSM+ jgs gSa vkSj B

nf{k.kkorZ fn'kk esa nkSM+ jgk gSA fuEufyf•r lokyksa dk
tokc nsa%

(i) After how much time from the start all three

will meet again at the starting point?

çkjaHk ls fdrus le; ckn rhuksa iqu% çkjafHkd fcanq ij feysaxs\
(a) 120 seconds (b) 60 seconds

(c) 75 seconds (d) 90 seconds

(ii) After how much time from the start all three

will meet for the firs t time anywhere on the

track?

'kq#vkr ds fdrus le; ckn rhuksa igyh ckj VªSd ij dgha
feysaxs\
(a) 150 seconds (b) 60 seconds

(c) 75 seconds (d) 120 seconds
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Circular Motion

13. A, B and C start running simultaneously from a
point on a circular track 600 m long with speeds
of 40m/s, 70m/s, and 80m/s, respectively. A
and B are moving in a clockwise direction, while
C is moving in an anticlockwise direction. After
how many seconds will all the three be together
for the first time on the track?

A, B vkSj C 600 ehVj yacs o`Ùkkdkj VªSd ij ,d fcanq ls
Øe'k% 40 ehVj@lsdsaM] 70 ehVj@lsdsaM vkSj 80 ehVj@lsdsaM
dh xfr ls nkSM+uk 'kq: djrs gSaA A vkSj B nf{k.kkorZ fn'kk
esa ?kwe jgs gSa] tcfd C okekorZ fn'kk esa ?kwe jgk gSA fdrus
lsdaM ckn rhuksa igyh ckj VªSd ij ,d lkFk gksaxs\
(a) 30 seconds (b) 60 seconds
(c) 75 seconds (d) 90 seconds

14. Racer A and racer B run a race of 18 km on a
circular track of length 800 m. Both complete
one round in 200 sec and 250 sec, respectively.
After how much time from the start will the
faster person meet the slower person for the
last time?

/kod A vkSj B, 800 m yackbZ ds ,d o`Ùkh; iFk ij 18

km dh nkSM+ nkSM+rsa gSaA nksuksa ozQe'k% 200 sec vkSj 250

sec esa ,d pDdj iwjk djrs gSaA nkSM+ vkjaHk gksus ds fdrus
le; ckn rst O;fDr /hes O;fDr ls vkf[kjh ckj feysxk\

SSC CGL TIER I 17/07/2023 (Shift-04)

(a) 2700 sec (b) 4000 sec
(c) 2250 sec (d) 1800 sec

15. Having started from the same point and at the
same time, two runners - P and Q- are running
around a circular track of length 500m in
opposite directions with the speeds of 6 m and
10 m, respectively. If they exchange their
speeds after meeting for the first time, who
will reach the starting point first?

,d gh fcanq ls vkSj ,d gh le; ij nkSM+uk 'kq: djds] nks
/kod & P vkSj Q & Øe'k% 6 m/s vkSj 10 m/s dh
pky ls 500 m yacs ,d o`Ùkkdkj Vªsd ds ifjr% foijhr
fn'kkvksa esa nkSM+ jgs gSaA ;fn os igyh ckj feyus ds ckn viuh
pky ijLij cny ysrs gSa] rks 'kq#vkrh fcanq ij lcls igys
dkSu igqapsxk\

SSC CGL PRE, 25/07/2023 (Shift-4)

(a) Q (b) P

(c) Both P and Q will reach at the same time

(d) No one of the P and Q

16. Ram and Shyam are racing along a circular
track. The speed of Ram is thrice the speed of
Shyam. The length of the circular track is 1440
m. After the start of the race from the same
point simult-aneously, Ram meets Shyam for
the first time at the end of the 8th minute. If
Ram and Shyam start the race again from the
same starting point simultaneously, then the
time taken by Shyam to finish the race is:
(given that the length of the race is same as
the length of the track)

jke vkSj ';ke ,d o`Ùkkdkj iFk ij nkSM+ jgs gSaA jke dh pky
';ke dh pky ls rhu xquh gSA o`Ùkkdkj iFk dh yackbZ 1440
m gSA ,d gh fcanq ls ,d lkFk nkSM+ 'kq: gksus ds ckn] jke
8osa feuV ds var esa igyh ckj ';ke ls feyrk gSA ;fn jke
vkSj ';ke ,d gh çkjafHkd fcanq ls ,d lkFk fiQj ls nkSM+ 'kq:
djrs gSa] rks nkSM+ lekIr djus esa ';ke }kjk fy;k x;k le;
gS (Kkr gS fd nkSM+ dh yackbZ iFk dh yackbZ ds leku gS)

 SSC CGL (PRE) 26/07/2023 (Shift-2)

(a) 7.5 min (b) 16 min

(c) 30 min (d) 22.5 min

 17. Joy and Kat run around a circular track of

length 1100 m in opposite directions with

initial speed of 6 m/sec and 4 m/sec,

respectively. Starting from the same point

whenever they meet, Joy's speed halves and

Kat's speed doubles. After how much time from

the beginning will they meet for the second

time?

tkW; vkSj dSV 1100 m yackbZ ds ,d o`Ùkkdkj VSªd ds

ifjr% Øe'k% 6 m/sec vkSj 4 m/sec dh izkjafHkd

pky ls foijhr fn'kkvksa esa nkSM+rs gSaA tc Hkh os feyrs gSa

mlh fcUnq ls 'kq: djrs gq,] tkW; dh pky vk/h gks tkrh

gS vkSj dSV dh pky nksxquh gks tkrh gSA os 'kq:vkr ls

fdrus le; ds ckn nwljh ckj feysaxs\
SSC Phase X 05/08/2022 (Shift- 03)

(a) 220 sec (b) 210 sec

(c) 190 sec (d) 200 sec

1.(b) 2.(b) 3.(d) 4.(b) 5.(a) 6.(a) 7.(d) 8.(a) 9.(c) 10.(b)

11.(a)    12.i (a)   12.ii (d) 13.(b) 14.(b) 15.(c) 16.(b) 17.(b)

Answer Key
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